992 = 9801

9992 = 998001

99992 = 99980001

9 n 9(n)
(9()2 = g(n—1)g(1)p(n—1)1(1)



(9()2 = 9(n—1)g(1)g(n—1)1(1)

a=1=0.9()

0.9 =g — &

0.9(M = ¢ : : :

of = (a* — f) — (ffr — 17)
= (0.9 — 0.0(M9(>)y _ (0.0(Mg(>) _ 0.0(2n)g
=0.9(") — 0.0(m)g(")
— 0.9(n—Dg)gn—1)1(1)



(110y2 =11 2 3,4,5,6,7,9,0,0,9,8,7,86,5, 4,
(210y2 =149, 3,8,2,7,1,6,0,3,9,5,0,6, 1,7,

(410y2 =119 7,5 3,0,8,6,4,1,5,8,0,2, 4, 6,
(510y2 =13 0,8,6,4,1,9,7,5,2,4,6,9, 1, 3,5,

(7102 =16,0,4,9,3,8,2,7,1,4,8,3,9,5,0, 6,
8102 =17,90,1,2,3,4,5,6,6,3,2,0,09,8, 7,



(3(10))3 —
[3’ 77 O’ 3’ 77 O’ 37 77 O’ 2’ 57 97 2’ 57 97 2’ 57 9’ 2’ 7’
7,0, 3, 7]
(6(10))3 —
[2’ 9, 6’ 2’ 9, 6’ 2’ 9’ 6’ 2’ O’ 7’ 4’ O’ 7’ 4’ O’ 7’ 4’ 1’
9,6, 2,9, 6]
(9(10))3 —



(9(10))4 —
9,9,9,9,9,9,9,9,9,6,0,0,0,0,0,0,0,0, 0, 5,
2,919496,00,0,0,0,0,0,0,0, 1]

(9(10))5 —

9,9,9,9,9,9,9,9,9,5,0,0,0,0,0,0,0,0,0, 9,
9,9,99000,0,0,0,0,0,0,0,4,9,9,9,9, 9, !
(9(10))6 —

[9’ 97 9’ 9’ 97 9’ 97 97 9’ 4’ O’ O’ O’ 07 O’ O’ O’ O’ l’ 4’
97 9’ 9’ 87 O’ O’ O’ O’ O’ O’ O’ O’ O’ 1’ 4’ 9’ 97 9’ 9’ 9’ 1

0,000000,0,0Q0, 1]



(919)7 =
9,9,9,9,99,9,9930000,0000200929,09,09,
0,00000003492929292929292970920000,0,
9,9,9199792979 9]
(91108 =
9,9,9,9,999,99,20000,000027929,09,09,
0,000¢00006,92929292929292929440,00,0,0,
9,9929292929292000000,0,0,0, 1]
(9(10))9 —
9,9,9,9,999199100000000,3,509,9,09,09,
0,0000001,25929292929292928,7,40000,0,
2,9992929296%64000000000,8,9290909,09,



(1(10))9 —

2,5,8,1,1,7,4,7,8,9,3,9,0,1,3,9,8,7,0, 3,
9,6,9,1,2,56,57,1,6,1,6,4,9,4,9,06, 5, 4,
2,4,6,5,4,5/4,8,8,8,2,1,5,7,8,5 6,1, 2,8,
6,8,1,9,5 9, 1]

(9110)y? =

9,9,9,9,9,9,9,9,9,1,0,0,0,0,0,0,0,0, 3,5,
2,9916,00000001259292909,09,
0,0000000,83,99929929290906,4,!

0,0008,999909090909,09,9]



(9(rym

(g™

0.9(00) =1

G-1



(11102 =
(2(10y2 =
(3(100y2 =
(41102 =
(5(10y2 =
(6(100y2 =
(7(101y2 =
(8(100y2 =
(9(100y2 =

2 < G <10,n =10, (¢(™)?
1,1,1,1,1,1,1,1,1,0,0,0, 0, 0, 0, C
2,2,2,2,2,2,2,2,2,1,0,0,0,0, 0, C
3,3,3,33,33,33,200,0,0,0,C
4,4, 4,4, 4,4,4,4,4,3,0,0,0,0, 0, C
5,5,5,5/5 5,5 5,5,4,0,0,0,0, 0, C
6, 6,6,6,6, 6,66, 65,00,0,0,0,C
7,7,7,7,7,7,7,7,7,6,0,0,0,0, 0, C
8,8,8,88,8,88,8700,0,0,0,C

9,9999192919209480,00,00,C

10



(91102 =19, 9, 9,9,9,9,9,9,9,8,0,0,0,0,0,0

G>2,G—-1=g
(g2 = (=145 — 1)Do(r—1)1(1)

11



2 < G <10,n =10, (gM)3
(149 =11,1,1,1,1,1,1,1,0,1,0,0,0,0,0,0,0,0, 1,0, 1,1, 1, 1,
249y =12,2,2,2,2,2,2,2,2,0,0,0,0,0,0,0,0,0,0, 2,2, 2,2, 2,
(319)=13,3,3,3,33,3,3,3,1,00,0,00,00,0,0,2,3,3, 3,3,
(4003 =14,4,4,4,4,4,4,4,4,2,0,0,0,0,0,0,0,0,0, 2,4, 4,44,
(519y =[5 555 5,5,5,5,53,0,0,0,0,0,0,0,0,0, 2,5,5,5, 5,
(6493 =16, 6, 6, 6, 6, 6, 6,6,6,4,0,0,0,0,0,0,0,0,0, 2,6, 6, 6,6,
N =177777777500000000027777,
819y =18, 8,8,8,8,8,8,8,86,00,0,00,000,0,28,8,8,8,
(949)3=19,9,9,9,9,9,9,9,9,7,0,0,0,0,0,0,0,0,0,2,9,9,9,09,

12



(9110Y3 =19,9,9,9,9,9,9,9,9,7,0,0,0,0,0, 0,
9,9,9,9 9,099,099

G>3 G—-—1=g
(g3 = (=1 (g — 2)D(n—1)7(1) 4(n)

13



2 <G <10,n=10,(g™M)*
149y =11,1,1,1,1,1,1,1,0,0,0,0,0,0,0,0,0,1,0,1,1,1,1,1,1,1,1,1,0,0,0,0,0, 0, 0, (
249y =12,2,2,2,2,2,2,2,1,2,0,0,0,0,0,0,0,0,1,2,2,2,2,2,2,2,2,2,1,2,0,0,0,0,0, (
(349)*=13,3,3,3333,3,3,00,000000,0,1,1,3,3,3,3,3,3,3,3,30,0,0,0,0,0, (
(400)4 =14, 4,4,4,4,4,4,4,4,1,0,0,0,0,0,0,0,0,1,0,4,4,4,4,4,4,4,4,4,1,0,0,0,0,0, (
(5494 =15,5,5,5,5,5,5,5,5,2,0,0,0,00,0,0,0,0,5,5,5,5,5,5,5,5,5,5,2,0,0, 0, 0, 0, (
619)* =16, 6,6,6,6,6,6,6,6,3,0,0,0,000,0,0,0,5,6,6,6,6,6,6,6,6,6,3,0,0,0,0,0, (
(7494 =17,7,7,7,7,7,7,7,7,4,0,0,0,0,0,0,0,0,0,5,7,7,7,7,7,7,7,7,7,4,0,0,0, 0, 0, (
(819)* =18,8,8,8,8,8,8,8,8,50,00000,0,0,0,5,8,8,8,8,8,8,8,8,8,50,0,0,0,0, (

(949)*=19,9,9,9,9,9,9,9,96,0,0,00,0,0,000,599999999,09600,0,0,0,

14



(9(10))4 —
9,9,9,9,9,9,9,9,9,6,0,0,0,0,0,0,0,0, 0, 5,
2,919496,00,0,0,0,0,0,0,0, 1]

G>6 G—-1=g
(g4 = (=D (g — 3)Do(n—D)51) ;(n=1) (4 _ 3)(

15



2 <G <10,n=10,(g™)>
149y =11,1,1,1,1,1,1,0,1,1,0,0,0,0,0,0,1,0,0,1,1,1,1,1,1,1,0,1,1,0,0,0,0,0,0,0,0, 1, 0, 0, :
(249 =12,2,2,2,2,2,2,2,1,1,0,0,0,0,0,0,0,1,0,0,2,2,2,2,2,2,2,1,2,2,0,0,0,0,0,0,0,0, 1, 1, :
(349)5=13,3,3,3,3,33323,00000000,21,3,33333,3,3,1,20000,0,0,0,0,1,0, :
(4405 =[4,4,4,4,4,4,4,4,4,0,0,0,0,0,0,0,0,0,1,4,4,4,4,4,4,4,4,4,3,0,0,0,0,0,0,0,0,0,0, 4,
(5495 =15,5,5,5,5,5,5,5,5,1,0,0,0,0,0,0,0,0,1,3,5,5,5,5,5,5,5,5,4,2,0,0,0,0,0,0,0,0, 0, 4, !
(649)° =16, 6, 6,6,6,6,6,6,6,2,00,0,0,0,000,1,2,6,6,6,6,6,6,6,6,54,0,0,0,0,0,0,0,0,0, 4, (
(74¢ =17,7,7,7,7,7,7,7,7,3,0,0,0,0,0,0,0,0,1,1,7,7,7,7,7,7,7,7,6,6,0,0,0,0,0,0,0,0,0, 4,
(8195 =18,8,8,8,8,8,8,8,84,0,0,0,00000,1,0,8,8,8,8,8,8,8,8,7,80,0,0,0,0,0,0,0,0, 4,

(949)5=19,9,9,9,9,9,9,9,9,5/0,0,00000000919199999999000,0,0,0,000,0,4,¢

16



(9(10))5 —
9,9,9,9,9,9,9,9,9,5,000,0,0,0,0,0,0, 9,
97 9’ 9’ 97 O’ O’ O’ O’ O’ O’ O, O’ O’ O’ 4’ 9’ 97 9’ 9’ 9’ 1

G>10 G—-1=g

4= (g — 5Do(r-gM) 4D, _ gyDgln

17



G—-—1=g¢g a=0.9
O-g(n):& a:a—%
o? = (@~ ) ~ (& — )
a*=1=0.9)
o? = 0.¢( (g — 1)WDo—H1d)
G>2 (g™M)? = g™(g — 1)Dor-D1D)

18



O-g(n):a Oz:a—%

a3 a3 a3 a3 a3
053 - (a,3 o m) o z(m o EE) + (GZn T G3n)
a3 =1 = Og(oo)

03 = 0.9 D (g — 2)D(r-1) 4n)
G >3 (g™M)3 = ¢(r-D(g — 2)Do-1)) 4 ()

19



G—-1=g a=0g®

0.9M = q Q=a—

o' = (a" — &) = (& — &) + 3 — &) — (G — &)
a* =1=0.¢g

o? = ()_g(n—l)(g _ 3)(1)0(n—1)5(1)g(n—1)(g _ 3)(1)0(n—1)1(1)

G > 6 (g(n))4 — g(n—l)(g_3)(1)0(n—1)5(1)g(n—1)(g

20



G—-—1=g¢g a=0.9
0.¢g" =« Q=a— g
0® = (0° — &) — 4 — &) + 6(&r — &) — Mg — &)
a®=1=0.g()
05 = 0.6~V (g — 4)Dr-DgW 4n-D (5 — 9)D(-1 4D 4(r)
G > 10 (g™)° = ¢(n=D(g—4)Dor—DgM) 4(n=1)

21



G>2 G-1=g

(g2 = g=D(g — 1)Dor-DIA
g D(g— 1O ge-DIO

g D(g — 1O + -DID = 4

G=10 n=5
(99))2 = 9@gWO@ 1M

99998 + 00001 = 99999 = 9©)

22



